Ranger CV Boot Guards
P/N 10545-ST (STEEL)
Fits: 2010-12, 800cc, and 800 Crew Ranger
2010-2011, 500 4x4

Front are Rear Included

Does not fit Ranger HD
Includes:
Front:
1. (2) Front Guards (RH and LH)
2. (8) Pipe Clamp (45 degree corners)
Rear:
1. (2) Rear Guards (RH and LH) EZ?rrlg the square clamps and remaining
2. (4) Square Tube Clamps

bolts attach the guards to the rear. You
will only use two clamps per side.

You will use two holes in the outer end
of the a-arms for two bolts per guard.

WWW EXTREMEMETALPRODUCTS.COM . |
OFFRODACCESSORES &/

(leveland, Ohio

Installation:

Front:

Using the Pipe clamps, bolt and nuts
attach the guards to the front A-arms.
Before tightening check for clearance
when you turn the wheel both ways.

(16)1/4-20 Flange Head Bolts
(16) Nylon Nuts

Ranger CV Boot Guards
P/N 10545-ST (STEEL)
Fits: 2010-12, 800cc, and 800 Crew Ranger
2010-2011, 500 4x4

Front are Rear Included

Does not fit Ranger HD
Includes:
Front:
1. (2) Front Guards (RH and LH)
2. (8) Pipe Clamp (45 degree corners)
Rear:
1' (2) Rear Guards (RH and LH) 52?1:: the square clamps and remainin
2. (4) Square Tube Clamps Cattach y .

bolts attach the guards to the rear. You
will only use two clamps per side.

You will use two holes in the outer end
of the a-arms for two bolts per guard.

WWW EXTREMEMETALPRODUCTS.COM . |
OFFRODACCESSORES &/

Installation:

Front:

Using the Pipe clamps, bolt and nuts
attach the guards to the front A-arms.
Before tightening check for clearance
when you turn the wheel both ways.

(16)1/4-20 Flange Head Bolts
(16) Nylon Nuts

(leveland, Ohio

Ranger CV Boot Guards
P/N 10545-ST (STEEL)
Fits: 2010-12, 800cc, and 800 Crew Ranger
2010-2011, 500 4x4
Front are Rear Included
Does not fit Ranger HD
Includes:

Front:

1. (2) Front Guards (RH and LH)

2. (8) Pipe Clamp (45 degree corners)
Rear:

L Q) Rear Guards (RHand LH) 800
2. (4) Square Tube Clamps

bolts attach the guards to the rear. You
will only use two clamps per side.

You will use two holes in the outer end
of the a-arms for two bolts per guard.

WWW EXTREMEMETALPRODUCTS.COM . |
OFFRODACCESSORES &/

(leveland, Ohio

Installation:

Front:

Using the Pipe clamps, bolt and nuts
attach the guards to the front A-arms.
Before tightening check for clearance
when you turn the wheel both ways.

(16)1/4-20 Flange Head Bolts
(16) Nylon Nuts

Ranger CV Boot Guards
P/N 10545-ST (STEEL)
Fits: 2010-12, 800cc, and 800 Crew Ranger
2010-2011, 500 4x4
Front are Rear Included

Does not fit Ranger HD
InCIU’deS : Installation:
Front:
Front:

1. (2) Front Guards (RH and LH)

2. (8) Pipe Clamp (45 degree corners)
Rear:

1. (2) Rear Guards (RH and LH) Usin the squie clamps and remaining
2. (4) Square Tube Clamps

bolts attach the guards to the rear. You
will only use two clamps per side.

You will use two holes in the outer end
of the a-arms for two bolts per guard.

WWW EXTREMEMETALPRODUCTS.COM . |
OFFRODACCESSORES &/

(leveland, Ohio

Using the Pipe clamps, bolt and nuts
attach the guards to the front A-arms.
Before tightening check for clearance
when you turn the wheel both ways.

(16)1/4-20 Flange Head Bolts
(16) Nylon Nuts




